
ACCOUNTS

BOOKS - SULTAN CHAND & SONS ACCOUNTS (HINGLISH)

PRACTICE WORK

Illustration

1. Fixed Assets (at cost) ₹ 12,00,000,Accumulate Depreciation till date ₹

2,00,000, Trade Investment ₹ 1,00,000, Current Assets ₹ 4,40,000: Current

Liabilities ₹ 3,40,000, Revenue form Opertions ,ie.Net sales for the year

2018-19 amounted to ₹ 20,00,000.Calculate Capital employed turnover

ratio.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4XWIpqzJpc2M


2. Sharholders Funds ₹ 10,00,000, Long -term Debts ₹ 20,00,000 Gross

Profit at 20 % on Cost was ₹ 20,000,000.Calculate Capital Employed

Turnover Ratio.

Watch Video Solution

3. From the following data ,compute Total Assets Turnover Ratio: Fixed

Assets ₹ 3,00,000 ,Accumulated Depreciation ₹ 1,00,000, Current Assets ₹

2,00,000 Revenue from operations (Net sales ) ₹ 8,00,000.

Watch Video Solution

4. Fixed Assets (At cost) ₹ 21,00,000, Accumulated Depreciation till date ₹

3,00,000 Credit Sales ₹ 51,00,000, Cash Sales ₹ 4 ,50,000, Sales Return ₹

1,50,000. Calculate Fixed Assets Turnover Ratio

Watch Video Solution

https://dl.doubtnut.com/l/_YGYXiDAGlwdQ
https://dl.doubtnut.com/l/_7tgDPKEqpXLr
https://dl.doubtnut.com/l/_iTrZyJwp7Ttp
https://dl.doubtnut.com/l/_vpKRTpwM3sE0


5. Capital Employed is ₹ 5,00,000, Working Capital is ₹ 1,00,000, Cost of

Revenue from Operations is ₹ 16,00,000, Gross Profit is ₹ 4,00,000.

Calculate Fixed Assets Turnover Ratio.

Watch Video Solution

6. Current Assets ₹ 15,00,000, Credit sale ₹ 42,50,000 , Cash sales ₹

3,75,000, Sales Return ₹ 1,25,000. Calculate Current Assets Turnover Ratio.

Watch Video Solution

7. Capital Employed is ₹ 5,00,000, Working Capital is ₹ 1,00,000, Cost of

Revenue from Operations is ₹ 16,00,000, Gross Profit is ₹ 4,00,000.Total

Assets ₹ 5,00,000. Calculate Fixed Assets Turnover Ratio.

Watch Video Solution

https://dl.doubtnut.com/l/_vpKRTpwM3sE0
https://dl.doubtnut.com/l/_R3C1KuMgXiM2
https://dl.doubtnut.com/l/_LDpvGNTyXrNS


8. From the following Balance sheet of Cello Ltd. And information as at 31

st March ,2019 compute Current Assets Turnover Ratio 

 


 

Sales and Sales Return for the current year are ₹ 1,90,00,000 and ₹

7,00,000 respectively .

Watch Video Solution

9. From the following statement of profit and loss for the year ended 31st

March ,2019 of Reynolds Ltd. 

https://dl.doubtnut.com/l/_35vJuVaIXDM1
https://dl.doubtnut.com/l/_X3YM4VtyD3WE


 


Calculate (i) Gross Profit Ratio,(ii) Operating Profit Ratio,(iii) Operating

Ratio, ( iv) Expenses Ratio, (v) Net Profit Ratio.

Watch Video Solution

10. 

Watch Video Solution

From the following data ,calculate Return ₹ 

Equity share Capital 1,00,000

10% Preference share Capital 2,90,000

Net profit after Interset and Tax 2,94,000

https://dl.doubtnut.com/l/_X3YM4VtyD3WE
https://dl.doubtnut.com/l/_5fDno1KhycGE


11.  


Caluculated Return on Equity Shareholder's Funds ,

Watch Video Solution

16,000 Equity shares ₹ 10 each (fully paid ) 1,60,000

10 % Preference share capital (fully paid ) 1,00,000

Reserve ans surplus 6,40,000

Profit after tax 2,37,500

12. Y Ltd. Has earned a profit of ₹ 50,000 for the year ended 31 st March

2019 .Y Ltd, had fixed assets having net value ( after depreciation) of ₹

7,50,000 and current Return on Total Assets Ratio.

Watch Video Solution

13. Calculate Earning Per Share (EPS) from the following data , 

Profit after Tax: ₹ 50,000 

10 % Preference Share Capital ( ₹ 10 each) , ₹ 1,00,000 

Equity Share Capital ( ₹ 10 per Share ), ₹ 1,00,000

View Text Solution

https://dl.doubtnut.com/l/_20IoODOjeVZw
https://dl.doubtnut.com/l/_U1Q1O1AHxJXh
https://dl.doubtnut.com/l/_1m02DwWHuCXM


Exercies

1. Fixed Assets (at cost) ₹ 30,00,00, Accumulated Depreciation till date ₹

5,00,000 , Trade Investments ₹ 2,50,000: Current Assets ₹ 11,00,000,

Currents Liabilities ₹ 8,50,000, Cash Sales ₹ 10,00,000, Gross Credit Sales

Return ₹ 2,50,000 .Calculate Employed Trunover Ratio.

View Text Solution

2. Fixed Assets ₹ 4,00,000, working Capital ₹ 2,00,000, Cost of Goods Sold

₹ 20,00,000, Gross Sold ₹ 20,00,000, Gross profit ₹ 4,00,000 .Calculate

Captial Employed Trunover Ratio

View Text Solution

3. Shareholder's Funds ₹ 4,00,000 , Long-term Debts ₹ 8,00,000 , Gross

profit at 20 % on cost was ₹ 8,00,000, Gross Profit at 20% on cost was ₹

https://dl.doubtnut.com/l/_1m02DwWHuCXM
https://dl.doubtnut.com/l/_o85HbZNG3hoS
https://dl.doubtnut.com/l/_FYtIckmsG4lA
https://dl.doubtnut.com/l/_OrVegJn5AILI


8,00,000.Calculate capital Employed Trunover Ratio.

View Text Solution

4. Following is the Balance Sheet of X Ltd. 

 


Sales for the following ratios , 

(i) Total Assets Turnover Ratio, 

(ii) Fixed Assets Turnover Ratio, and 

(iii) Current Assets Trunover Ratio.

View Text Solution

https://dl.doubtnut.com/l/_OrVegJn5AILI
https://dl.doubtnut.com/l/_7QFbCajsqZO7


5. Calculate the Materials Consurned Ratio, Employees Benefit Expenses

Ratio, Admninistrative Expenses Ratio, Selling and Distribution Expenses

Ratio and Other Expenses Ratio from the following information 

View Text Solution

₹ 

Opening Stock (Finished Goods) Nil

Net Sales 1,60,000

Material Consumed 80,000

Closing Stock (Finished Goods ) Nil

: ∣

Wages

Administrative Expenses

Selling and Distribution E

Manufacturing Expenses

6. Following information is available of XYZ Ltd for the year ended 31st

March, 2019: 

Net Profit before Interest and Tax ₹ 2,75,000, Net Profit after Tax ₹

2,20,000, Net Profit after Interest and Tax ₹ 1,10,000, Preference Dividend ₹

35,000, Capital Ermployed ₹ 11,00,000, Total Assets ₹ 12,65,000, Net Worth,

i.e., Shareholders' Funds ₹ 7,50,000. Calculate: (i) Return on Capital

Employed, (ii) Return on Total Assets, (iii) Return onSharehoders Funds

View Text Solution

https://dl.doubtnut.com/l/_Pceb7BJ3DyTw
https://dl.doubtnut.com/l/_KJs9ecZdxQv5


Viva Question

7. 

View Text Solution

Calculate Earing per share ₹

Net profit before Tax 2,00,000

10 % Preference shares of ₹ 100 each 2,00,000

Equity Shares of ₹ 10 each 2,00,000

Tax Rate 50%

1. What was the reason for Ms. Parul and Ms. Aruna to become partners in

the business?

View Text Solution

2. Why is it necessary for Ms. Parul and Ms. Aruna to enter into

partnership Deed?

View Text Solution

https://dl.doubtnut.com/l/_BEnpvtlqQWXs
https://dl.doubtnut.com/l/_ypTS5sF8mQfw
https://dl.doubtnut.com/l/_h9KFvulA0nIa
https://dl.doubtnut.com/l/_2vdn9UCCl1Ue


3. Why is it necessary to prepare Trial Balance ?

View Text Solution

4. Was the bank balance reconciled?

View Text Solution

5. What does a Trading Account show?

View Text Solution

6. What does Profit and Loss Account show?

View Text Solution

7. Give two characteristics of a Balance Sheet

https://dl.doubtnut.com/l/_2vdn9UCCl1Ue
https://dl.doubtnut.com/l/_DWneCOLLgqx4
https://dl.doubtnut.com/l/_2uchK0fIdMfj
https://dl.doubtnut.com/l/_yDUCkBZWBVmF
https://dl.doubtnut.com/l/_7Emzckgnj3dm


View Text Solution

8. What do youunderstandby 'Direct Expenses?

View Text Solution

9. How is Closing Stock (inventory) valued?

View Text Solution

10. Why do we recognise 'income earned but not received' and 'expenses

incurred but not paid' in the books of account?

View Text Solution

11. What can be the reasons for a firm earning higher Gross Profit than

the industry standards ?

Vi T t S l ti

https://dl.doubtnut.com/l/_7Emzckgnj3dm
https://dl.doubtnut.com/l/_n0CNuWyuKKY9
https://dl.doubtnut.com/l/_0xC4TgoRZxdf
https://dl.doubtnut.com/l/_v7bzWwNVQDBf
https://dl.doubtnut.com/l/_I8DeWt2bXdP7


View Text Solution

12. Operating Ratio is lower than the industry standard. Is it good for the

firm?

View Text Solution

13. Do you think lower Inventory Turnover Ratio is good for the firm?

View Text Solution

14. Why do you think lower Trade Payables Turnover Ratio is not good for

the firm?

View Text Solution

15. Working Capital Turnover Ratio of the firm is 0.94 against industry

standard of 2. Do you think the firm is performing better in this area as

https://dl.doubtnut.com/l/_I8DeWt2bXdP7
https://dl.doubtnut.com/l/_VwSDskwOhevi
https://dl.doubtnut.com/l/_aZfV4QJFdY9N
https://dl.doubtnut.com/l/_6RZ7Sn7Mzf0x
https://dl.doubtnut.com/l/_fFRlJzSx84G4


compared to industry?

View Text Solution

16. The firm ha s hight Current Ratio. What does it indicate ?

View Text Solution

17. Which areas , according to you are the weak areas of the firm ?

View Text Solution

18. What does Operating Ratio of 65.40 % indicates against Industry

Standard of 75%?

View Text Solution

https://dl.doubtnut.com/l/_fFRlJzSx84G4
https://dl.doubtnut.com/l/_WTiUvnuS5mJO
https://dl.doubtnut.com/l/_D8B6uobP7jih
https://dl.doubtnut.com/l/_nIqSjIFygfas


19. Gross Profit Ratio is  46.72% against Industry Standard of 40%. What

does it mean?

View Text Solution

20. Net Profit Ratio is 33.50% against industry standard 27.5%. What does

it mean?

View Text Solution

21. Kapil Ltd. improves its Current Ratio to 2:1, and Quick Ratio to 1:1,in

your opinion can it be rated as better company than Kamal Ltd?

View Text Solution

22. what is Debt to Equity Rati0 ?

View Text Solution

https://dl.doubtnut.com/l/_uuICK2yAkdzR
https://dl.doubtnut.com/l/_4nsMTaLGNJra
https://dl.doubtnut.com/l/_g9qVArY7HW6D
https://dl.doubtnut.com/l/_3JO71p1K5wBw


23. What is Proprietary Ratio?

View Text Solution

24. What does a low Proprietary Ratio mean?

View Text Solution

25. What is Quick Ratio ?

View Text Solution

26. What are Quick Assets?

View Text Solution

https://dl.doubtnut.com/l/_3JO71p1K5wBw
https://dl.doubtnut.com/l/_J8Jhoe5RynVD
https://dl.doubtnut.com/l/_H22hgp9LE8wL
https://dl.doubtnut.com/l/_QgyZSXRNWkn6
https://dl.doubtnut.com/l/_o76pzoP4d1aB


27. How is Capital Employed calculated?

View Text Solution

28. How are Long-term Funds calculated in a given project?

View Text Solution

29. How are Current Assets calculated under this project?

View Text Solution

30. How are Sharehoders' Funds calculated under this project ?

View Text Solution

https://dl.doubtnut.com/l/_2vbpw5UlZ561
https://dl.doubtnut.com/l/_Rh8957H5xWZn
https://dl.doubtnut.com/l/_Qkw5Io95LGyX
https://dl.doubtnut.com/l/_HRV8PadrIhti


31. What are the various ratios used for establishing profitability and

financial position of an enterprise?

View Text Solution

32. Explain Retuirn on Total Assets Ratio

View Text Solution

33. What is the significance of Return on Total Assets Ratio?

View Text Solution

34. What is Total Assets to Debt Ratio?

View Text Solution

https://dl.doubtnut.com/l/_xVNb5vLXFZ06
https://dl.doubtnut.com/l/_hHmI72zYyI6K
https://dl.doubtnut.com/l/_oIO6jsAac5Ic
https://dl.doubtnut.com/l/_zRewwHtNUyJ8


35. What is meant by Gross Profit?

View Text Solution

36. Fill in the blanks 

(i) Current Ratio =  


(ii) Return on Total Assets 

View Text Solution

Current Assets 

?

= × 100
Profit after Tax

?

37. What does it mean-Collection period of 1.5 months ?

View Text Solution

38. What is meant by Liquidity Ratios?

View Text Solution

https://dl.doubtnut.com/l/_yiSGgUdcZIL9
https://dl.doubtnut.com/l/_jv1BZtUpmOBU
https://dl.doubtnut.com/l/_3EepMXYXk9oD
https://dl.doubtnut.com/l/_jLUlLMiM1Voo
https://dl.doubtnut.com/l/_EWr88xmucaSp


39. What is the significance of calculating Current Ratio?

View Text Solution

40. Why are loose tools, stores and spares not included in Current Assets

while calculating Liquidity Ratios?

View Text Solution

41. What is meant by 'current liabilities '?

View Text Solution

42. Should the bank overdaft be included in current liablilities ?

View Text Solution

https://dl.doubtnut.com/l/_EWr88xmucaSp
https://dl.doubtnut.com/l/_yWhwrijEmP3I
https://dl.doubtnut.com/l/_44lHGczGmDYE
https://dl.doubtnut.com/l/_uwgU2NCE2oU4


43. What does Liquid Ratio of 0.78 : 1 indicate ?

View Text Solution

44. What is meant by Cash Flow Statement?

View Text Solution

45. What do you understand by Cash Equivalents?

View Text Solution

46. What is meant by Operating Activities?

View Text Solution

47. What is meant by Investing Activities?

https://dl.doubtnut.com/l/_veJVhr5FXRCX
https://dl.doubtnut.com/l/_GMyf0JlPDa5O
https://dl.doubtnut.com/l/_QRv7yau5fCny
https://dl.doubtnut.com/l/_0KgFlCxz3eRK
https://dl.doubtnut.com/l/_Occ8rN3q7CG2


View Text Solution

48. What is meant by Financing Activities?

View Text Solution

49. Why is it important to know Cash Flow from Operating Activity?

View Text Solution

50. Why depreciation and liabilites written back are not considered in

Cash Flow Statement ?

View Text Solution

51. A company purchased a machinery and settled the consideration by

issuing fully paid 10 % Preference shares. How would it be shown in Cash

https://dl.doubtnut.com/l/_Occ8rN3q7CG2
https://dl.doubtnut.com/l/_UgZyH7OlprLb
https://dl.doubtnut.com/l/_gPNYvopYdgOC
https://dl.doubtnut.com/l/_RRiQwabqQf64
https://dl.doubtnut.com/l/_L9BaZalkoCBD


Flow Statement?

View Text Solution

52. How will purchased goodwill be shown in Cash Flow Statement?

View Text Solution

53. If debentures are converted into shares, how will it be shown in Cash

Flow Statement?

View Text Solution

54. Under which activity will you show the dividend received?

View Text Solution

55. Under which activity will you show the dividend paid?

https://dl.doubtnut.com/l/_L9BaZalkoCBD
https://dl.doubtnut.com/l/_WCBSK8GLBllE
https://dl.doubtnut.com/l/_GNBBwV9P8wku
https://dl.doubtnut.com/l/_7yP8DwPaEEyy
https://dl.doubtnut.com/l/_gQcPSSYF2Ofp


View Text Solution

56. In the project, you have deducted ₹ 10,759 lakhs being interest

received from Cash Flow from Operating Activity.Why?

View Text Solution

57. Why have you shown ₹ 23,755 lakhs being dividend related to financial

year ended 31st March, 2014 as outflow of cash in the financial year ended

31st March, 2015 ?

View Text Solution

58. You have shown interest paid of ₹ 514 lakhs under Cash Flow from

Financing Activity, whereas you have shown interest received of ₹ 10,759

lakhs under Cash Flow from Investing Activity. Why?

View Text Solution

https://dl.doubtnut.com/l/_gQcPSSYF2Ofp
https://dl.doubtnut.com/l/_z0uWQRSuAfn4
https://dl.doubtnut.com/l/_qdbkjL3MSkYw
https://dl.doubtnut.com/l/_RztndxF7SKKp


59. The company has Cash Flow from Operating Activity of ₹ 62,525 lakhs.

Do you consider it to be healthy for the company?

View Text Solution

60. In the project, why you have added Deferred Tax Liability (Net)

toSharehoders' Funds?

View Text Solution

61. What is meant by Operating Activities?

View Text Solution

62. What is meant by Financing Activities ?

View Text Solution

https://dl.doubtnut.com/l/_RztndxF7SKKp
https://dl.doubtnut.com/l/_3EEJlosxS9T4
https://dl.doubtnut.com/l/_Xq3yTCY82pIq
https://dl.doubtnut.com/l/_Q4TmAFcV7nSW
https://dl.doubtnut.com/l/_S4jmvLX8RbGG


63. What is meant by Investing Activities?

View Text Solution

64. What is meant by Cash Equivalents ?

View Text Solution

65. Give two exaples of Cash flow fron Operating Activities .

View Text Solution

66. Given an example of Financing Activity

View Text Solution

https://dl.doubtnut.com/l/_NmBW9mWt8bqV
https://dl.doubtnut.com/l/_OjK1CQcD31A7
https://dl.doubtnut.com/l/_a9VKCpJ0DIfj
https://dl.doubtnut.com/l/_zVUgptaNDrRB


67. How do you treat depreciation in calculating Cash Flow from

Operating Activities, It being non- cash expenditure .

View Text Solution

68. Give one example of an activity which is classified as Operating Activity

in case of all the enterprises.

View Text Solution

69. Give one example of an activity which is classified as Financing Activity

in case of all the enterprises.

View Text Solution

70. Give one example of an activity which is classified as Investing Activity

in case of all the enterprises.

https://dl.doubtnut.com/l/_5t0JDs6a0Uqe
https://dl.doubtnut.com/l/_n5b32EcWGWGV
https://dl.doubtnut.com/l/_WHVv2nxOLyfY
https://dl.doubtnut.com/l/_b2fEZqqrAJGl


View Text Solution

71. How can we ascertain Cash Flow from Investing Activities ?

View Text Solution

72. How can we ascertain Cash Flow from Finacing Activities ?

View Text Solution

73. State the conditions for an investment of qualify as Cash Equivalent.

View Text Solution

74. List any two Operating Activities which result into inflow of cash .

View Text Solution

https://dl.doubtnut.com/l/_b2fEZqqrAJGl
https://dl.doubtnut.com/l/_Siud3TeuilQj
https://dl.doubtnut.com/l/_eRvjU5m1Og3C
https://dl.doubtnut.com/l/_94Q3zumO3Ccc
https://dl.doubtnut.com/l/_hOudmicgg7ZS
https://dl.doubtnut.com/l/_4FTJu4PfDvXr


75. Under which activity is dividend received shown ?

View Text Solution

76. Under which activity is dividend received shown ?

View Text Solution

77. Give two conditions required to be satisfied for any investment to

qualify as cash equivalents

View Text Solution

78. Give the treatment of non-cash transactions in Cash Flow Statement

View Text Solution

https://dl.doubtnut.com/l/_4FTJu4PfDvXr
https://dl.doubtnut.com/l/_PiTcGFMKwIY2
https://dl.doubtnut.com/l/_D7d885SMC14D
https://dl.doubtnut.com/l/_g1VPmBha8cGy


79. Give two examples of non-cash transactions.

View Text Solution

80. Give one limitation of Cash Flow Statement.

View Text Solution

81. Give two examples of Cash Flow from Operating Activities.

View Text Solution

82. Give one example of Financing Activity.

View Text Solution

83. How can we ascertain Cash Flow from Financing Activities?

https://dl.doubtnut.com/l/_ql9WOBAV3tEn
https://dl.doubtnut.com/l/_fDeAOKXjgjIL
https://dl.doubtnut.com/l/_3E2BHNcHPiO3
https://dl.doubtnut.com/l/_jBMCmJCVHDnw
https://dl.doubtnut.com/l/_xnKGPO8BLBja


View Text Solution

84. How can we ascertain Cash Flow from Investing Activities?

View Text Solution

85. What is segment reporting ?

View Text Solution

86. Name the various segments of ITC limited.

View Text Solution

87. Which segment is the best segment of the Company ?

View Text Solution

https://dl.doubtnut.com/l/_xnKGPO8BLBja
https://dl.doubtnut.com/l/_dQ6o09xK4aVz
https://dl.doubtnut.com/l/_fTtlVF6WAr5y
https://dl.doubtnut.com/l/_qirT0TRJD79d
https://dl.doubtnut.com/l/_e8yo3VdQ9inp
https://dl.doubtnut.com/l/_KwwugDk4AIK1


88. Which segment has highest revenue

View Text Solution

89. Can you state the risks carried by FMCG- Cigarettes segment ?

View Text Solution

90. Should the company operate in only FMCG-Cigarettes segment due to

high profit ?

View Text Solution

91. What is book keeping ?

View Text Solution

https://dl.doubtnut.com/l/_KwwugDk4AIK1
https://dl.doubtnut.com/l/_DdjgBNy2LB8P
https://dl.doubtnut.com/l/_5gFZCSefCePp
https://dl.doubtnut.com/l/_rJ8YHY1BksH1


92. What is meant by accounting ?

View Text Solution

93. What is an Accouting Cycle ?

View Text Solution

94. Who are the users of Accouting information ?

View Text Solution

95. Explain the following terms.

View Text Solution

96. What do you mean by an insolvent ?

https://dl.doubtnut.com/l/_REfc880AhmuO
https://dl.doubtnut.com/l/_3ZqOR0wTx4bq
https://dl.doubtnut.com/l/_rQb0uTRZCS4n
https://dl.doubtnut.com/l/_TmRMtwdGzUbk
https://dl.doubtnut.com/l/_EyRDAubNdezr


View Text Solution

97. What is Profit ?

View Text Solution

98. What is meant by Goods ?

View Text Solution

99. How is inventory (stock ) valued ?

View Text Solution

100. What is Accounting Entity Assumption (or business Entity

Assumption) ?

View Text Solution

https://dl.doubtnut.com/l/_EyRDAubNdezr
https://dl.doubtnut.com/l/_6m5msWnKWKsu
https://dl.doubtnut.com/l/_UgTfnvPRCngN
https://dl.doubtnut.com/l/_WiuGzdhh4Skz
https://dl.doubtnut.com/l/_zQF3vmlkMNNZ


101. What is Money Measurement Assumption ?

View Text Solution

102. What is Going Concern Concept (Assumption)?

View Text Solution

103. What is Dual Aspect Concept of accounting?

View Text Solution

104. What is Realisation Concept of accounting?

View Text Solution

https://dl.doubtnut.com/l/_zQF3vmlkMNNZ
https://dl.doubtnut.com/l/_QEj2Ls4EqwZs
https://dl.doubtnut.com/l/_v5j1PzO0V8ro
https://dl.doubtnut.com/l/_cZNAQQPNXwTo
https://dl.doubtnut.com/l/_dciZbNoT0NUd


105. Explain Matching Principle of accounting

View Text Solution

106. Explain Convention of Consistency

View Text Solution

107. Explain Conservatism or Prudence Principle

View Text Solution

108. State one accounting practice based on Prudence Principle

View Text Solution

109. State the meaning of Accounting Standards

https://dl.doubtnut.com/l/_ZWD3xQOC0UAP
https://dl.doubtnut.com/l/_li73xPIXFjum
https://dl.doubtnut.com/l/_gs9uKjUhg1IW
https://dl.doubtnut.com/l/_gCJRT0vKFyXg
https://dl.doubtnut.com/l/_LuVCU5lUOce8


View Text Solution

110. What is the main objective of setting Accounting Standards?

View Text Solution

111. What is Voucher?

View Text Solution

112. What is Debit Voucher?

View Text Solution

113. What is Credit Voucher?

View Text Solution

https://dl.doubtnut.com/l/_LuVCU5lUOce8
https://dl.doubtnut.com/l/_NBYeBKR8yLHG
https://dl.doubtnut.com/l/_49SdRueejg9K
https://dl.doubtnut.com/l/_G6z67zVFVazT
https://dl.doubtnut.com/l/_57kMJtbILluR
https://dl.doubtnut.com/l/_AHqWsBvhk8U1


114. What is Basic Accounting Equation?

View Text Solution

115. What is Cash Discount?

View Text Solution

116. What is Trade Discount?

View Text Solution

117. What is Rebate?

View Text Solution

118. What is a Journal?

https://dl.doubtnut.com/l/_AHqWsBvhk8U1
https://dl.doubtnut.com/l/_qgXURLGrjHZi
https://dl.doubtnut.com/l/_GdjRdoqW6w3g
https://dl.doubtnut.com/l/_ojTYLhJo7XkP
https://dl.doubtnut.com/l/_QORHf1aPHzdx


View Text Solution

119. Why is Journal called a Book of Prime Entry?

View Text Solution

120. What is an Opening Entry?

View Text Solution

121. What is Journalising?

View Text Solution

122. What is a simple Journal entry?

View Text Solution
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123. What is a compound Journal entry?

View Text Solution

124. Which account shall be debited for goods distributed as free

samples?

View Text Solution

125. Name the book in which accounts are opened.

View Text Solution

126. Why is the Ledger called the Book of Final Entry?

View Text Solution
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127. What is meant by deblt (Dr) balance in an account?

View Text Solution

128. What is meant by credit (Cr.) balance in an account?

View Text Solution

129. What Is Cash Book?

View Text Solution

130. Do you agree with the statement that Cash Book is a subsidiary book

only?

View Text Solution
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131. Cash Book can never have a credit balance. Why?

View Text Solution

132. Define Double Entry System of Book Keeping.

View Text Solution

133. What is Credit Note?

View Text Solution

134. What is a Debit Note?

View Text Solution

135. What is a Bank Reconciliation Statement?
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View Text Solution

136. When can a Bank Reconciliation Statement be prepared?

View Text Solution

137. What is a Trial Balance?

View Text Solution

138. State the accounts which are not considered while preparing the Trial

Balance by Balance Method Accounts which do not show any balance are

not considered while preparing the Trial Balance by

View Text Solution

139. What is a Suspense Account?
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View Text Solution

140. What is Error of Principle?

View Text Solution

141. Mohan's Account was debited by ₹ 1,500 instead of ₹ 15,000. Identify

the type of error

View Text Solution

142. Wages paid to a worker for making additions to machinery

amounting to Wages Account. Identify the type of error.

View Text Solution
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143. Mohan's Account was debited by ₹ 1,500 instead of ₹ 15,000. While

rectifying the above error, which account shall be credited?

View Text Solution

144. What is Depreciation?

View Text Solution

145. What is Amortisation?

View Text Solution

146. Give two examples of provisions.

View Text Solution
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147. What is Reserve?

View Text Solution

148. What is Capital Reserve?

View Text Solution

149. What is meant by Reserve Fund?

View Text Solution

150. Which account is debited for creating Provision for Doubtful Debts

on Debtors?

View Text Solution
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151. What is meant by Revenue Expenditure?

View Text Solution

152. Define Capital Expenditure.

View Text Solution

153. Give any two examples of Capital Expenditure

View Text Solution

154. What are Direct Expenses?

View Text Solution

155. What is Statement of Profit and Loss?
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View Text Solution

156. What is Net Profit?

View Text Solution

157. What is Balance Sheet?

View Text Solution

158. Why Is Closing Stock valued at lower of cost or net realisable value?

View Text Solution

159. What is adjusted purchases?

View Text Solution
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160. How will you show unexpired insurance given in the Trial Balance in

final accounts?

View Text Solution

161. Give any two examples of Capital Receipt.

View Text Solution

162. Mention four iterns of Current Assets and two items of Current

Liabilities.

View Text Solution

163. What are Prepaid Expenses?

View Text Solution
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164. What is an Accrued Income?

View Text Solution

165. What is the income Received in Advance ?

View Text Solution

166. What is a bill of Exchage ?

View Text Solution

167. A Bill of Exchange as well as promissory Note requires acceptance "

comment .

View Text Solution
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168. A Bill of Exchange cannot be sent to bank for collection. It can be

discounted only. Do you agree? 

Give reasons

View Text Solution

169. Can a Trial Balance be prepared to check the arithmetical accuracy of

the books of account under Single Entry System?

View Text Solution

170. What is a Not-For-Profit Organisation? Give two examples.

View Text Solution

171. What are the financial statements prepared in the final accounts of

Not-For-Profit Organisations?
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View Text Solution

172. What is a Receipts and Payments Account?

View Text Solution

173. What is Income and Expenditure Account?

View Text Solution

174. Give any one similarity between Receipts and Payments Account and

Income and Expenditure Account.

View Text Solution

175. Define Trade Payables as per Schedule II of the Companies Act, 2013.

View Text Solution
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176. Explain the term operating Cycle?

View Text Solution

177. What is the purpose of Operating Cycle ?

View Text Solution

178. Define Non-current Liablities.

View Text Solution

179. What is the criteria for detemining current assets ?

View Text Solution
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180. What is the criteria for determing Current Liability ?

View Text Solution
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